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Scecoon A
A
[30 marks)
{ 30 4%

Answer all questons.
& K F7 A 89 9 8

I. The diagram | shows a hiving thing.

/1 2r—%#F 240,
-_./'/:/ P i\:_

-~
Diagram 1
B

The hiving thing excretes its waste products through its -
A EPEL ESTIES
A lungs

B
B. kudneys

e

C. moist skin
D. trachea smructure

= 3
L=

2. The informadon shows the specific charactenistcs of cwo  animals.
AT T4 2 7E e i

P| Able to change skin colour Q Has sharp claws to hurt its
according to the surrounding. enemies.
SN RERRNER ARMERREA,
eRHE.
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\Which of the I'ollowmg represent animals P and Q7

AT IR A3 P F2(Q?

P Q ‘
A Artc fox Elephant l
E| % 1N X3 1
B Chameleon Tiger j
TE kL xR
C Zebra Lion
L BT
D Eagle Cow
Z5 +

3. Diagram 2 shows animals classified into two groups, X and Y.

B2 2T XAX oY A,

X Y
Rat Frog
ES it
Bat Butterfly
5% 3%
Lion Turte
BT A

Diagram 2
2

Which are represent by X and Y?

T g 1A AX f2Y?




5. Which of the following characteristics can help the plants avoid being

RN s e
e - uprooted when strong wind comes?
A : —] : e il Py Bt
Take care of their voung Take care of their ¢ggs T PUARSR ST A7 AR 45 (A A T F 43R R i AR AL?
2R EMGI L 488 BAE 416797 _
s Give birth Take care of their eggs A. chtduous
55 % £ 88 FRE 16797 il
Lave in solitary Live in group B. ;[_L:: ;;th \\’;axy L
: VRSN By
C I B C. Curly leaves
Give birth Lay eggs N
5 4 jp 4 < S
| D. Firm and strong roots
B FELEIR
6. Which of the following are diseases causes by microorganisms?
4. Diagram 3 shows a plant. VATFoIR — 3R 95 5 ST by B 4R B 3| A2 92
H=2-F—4iidh.
I Measle I Lungcancer
WA M 7
Diagram 3 s
A 3 : I Mumps IV Asthma
A2 K% 7 %

SR

Which of the following plant have the same breeding method with the

plants above? ; A. land II B. Iand [II
VAT ARR A6 45 69 M54 ik A L&t A 40 F)?

; 4o 11 4o 101
A. Nest fern ? C. Mand IV BT s
ION9 Y !
B. Delonix II 4o IV 1l fo IV
i
ABA i
C. DBanana Tree i
#F a
D. Dandelion f
% |
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7. Table | shows rthe average height of four type of plants.

£ LA tidn ey 339 S A

Table 1

1

Plants :\:::ut height / m
4 R A
Banana 34
H®&
Rubber 8.1
B
Cocoa 35
==
Coconut 10.9
A4

Based on table 1, which plants could be planted together to avoid competition

for sunlight?

B A1, IRl A T ARAT LA — A X8 R 5 Fa A7

A

B.

Banana plant and cocoa plant

FEASAT T

Rubber tree and cocoa plant

BALA Fo T T

Rubber tree and coconut tree

1B RG A3t Ao dp gt

Coconut tree and banana plant

A5 i} Ao A A
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8. Whar is meant by friction?
2 LB

A. A force that acts on an object.
Foho fi— A4 L6 7

B. A force that changes the position of an object.
ILEHMALT A D

C. A force that opposes the movement of an object.
LAgeAssh el 7 e 4a B 6T 7

D. A force that increases the speed of the moving object.

1Ak AsHh 6 ik B 3G Ao 63 70

9. Diagram 4 shows the length of objects in the classcoom.
B4 2FREZHWRGKA

Length of object
hke KA
K L M N
Diagram 4
[ 4

Object
ik



o s 4 % - # s i) 1 e akvsater leved wo- 20cem?
W hich of the following statement is corrects . How many marbles should be added o increase the water vel w 8¢y ¢

WA TR ER R AR E? MEMAS PAREES A TiERE LA £ 80cm’ ;
A K is longer than L Al 2 marbles
KLk 2ARBER
B. L. is longer than N B. 3 marbles
LENK 3ARBER
C. Mislongerthan L C. 4 marbles

MRLK 4 MEHMER
D L is longer than K D. 7 marbles
LEKXK T AR E R

10. Diagram 3 shows an experiment. 11. Diagram ¢ shows an electric circuit,
SRR ES B 6 SA— N et

 S— <~ 1|1+

o
M

aan ol
[}

1

3 ..
:::_ :- 40cm? ' @
20cm® -. - m

'

Marbles L@)ﬁ

IS SRk ‘ Diagram 6
Mo

Diagram 5

MSs
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Which of the bulb does not light up if bulb L blows?
do RATIR LR T, MRTRAT R R AR

A. K only
Kdma
B. M and K
M Fo K
i M and N
M #o N
D. KandN
K o N

12. Diagram 7 shows Ali looking at his image in the mirror.

B 7 27 MR E A A A A AL 0 SR

Diagram 7
m7

Which of the following has the same function as the mirror?

F FI05R 8 1) i Ao 4 F — 4F2
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4/»";‘%" ) //’%
J

-

13. Diagram 8 shows a squeezing toothpaste acton.

B 8 % a4 g K a9 ahtko

F

Diagram 8
B 8

Which of the following using the same force as above?

VAT IR 6 ) 55 B — 42

A ;_;f
L_‘-l]:\

10



14. Which of the following appliances changes electrical energy 1060 hight and
sound energy ?

T RPARAS AL 3 e bl 4k 4k A Afk Ao B AE?

A.  Television
WAL AL

B. Radio
WA A

C. Alarm clock
I#] 4¢

D.  Telephone
LR

15. Diagram 9 shows a cup of hot water.

B9 RT—nhoK.

Diagram 9
Bo

What will be happened, if a few ice cubes were added into the cup?
do AN K TIRF R, o244 TR

1. The water gains heat
KR AR

I1.  The water loses heat
T84

111, The water becomes warmer
AR AR

IV. The water becomes cooler

AR AL A
11
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A, land Il
I a1l

C Il and IV
[N CHAY

B.1 and 111
1 Ao 11]

D HI and IV
NECRNY

16. The information below shows the steps of an invesugaton 1o

measured the volume of solid.

FAF 0 4 5 ) PR ARAR 69 4 82

P - Pour water into measuring cylinder and

volume
FIAEHA B G R R
Q - Put a marble Iinto a measuring cylinder
5370 L33 N 1o
R - Calculate the volume of marble
it WA K E
S - Record the final volume of water

RBEEREKOER

record its initial

12



Which of the following shows the correct sequence of the

steps in the process ?

VATF R0 G 5L R IR 6 B3 K 2
A. QPR,S

B. P,Q,S5R

C Q,P; S8, R

D. Q, P, R, S

17. What is the characteristcs of 2 spoilt food ?

XM A A4 45iE?

I. Slimy II. Tasteless
Hi55 e S
III. Unpleasant smell 1V. Last longer

LR it A
A. Tand Il B. I and III
14211 I 4o 111
C. Iland IV D.II and IV
1V I 4= IV

13
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18. The following information is recorded when the blue and red

litmus paper is being put into the substance L, M and N

THANEF S B it & ZHMEAAHA L. M AP N B

BB R.

Substances L. - Red litmus paper become blue colour.

WAL -l IXmER

Substances M = Blue litmus paper become red colour.
HWHEM - RELEHERTY

Substances N - Bluc and red litmus paper has no changes.

WA N- Bedobr b 3R &AL

Which of the following represent substances L, M and N?
FHlapA 24 Lo M Ao N?

L M N
A =E 3 i xa
Mango Cooking Oil Egg white
B ra =X ik
Egg white Mango Cooking
Oil
C 6 id =X

Egg white | Cooking Oil Mango

D it xka =X
Cooking Egg white Mango
oil

14



19. Which of the following are used as preservadves in food?

VA TR B A 2

1. Vinegar I1. Warer
A K
1. Sugar IV.  Sale
% %
A. landlIl B. [, 1landIIl
I o1l I, II o ll1l
C. Iland III D. I, and IV

11 Fa 111 I, 1 f= IV

20. Which of the following statements explain the benefits of recycling

and reuse indusenal waste ?

A F ALt B8 B AR SR A Ak L A 6943 582

I. Reduce pollution.
RS

I1. Prevent the destructon of natural resources.
H b B B AT
I11.  Produce new products from used materials.

2 mit A8 At P o

IV.  Reduce the cost of waste disposal.

L B AR 6 1 )

15
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A, land I B.1, lland 1V
I Ao 111 I, [ 4= 1V

C. 1L and IV
I, Hlfo IV

D11 and TV
1, 1, NI A= 1V

21. Meng Wei wants to transfer the water from beaker P to beaker Q by
using a plate of metal. Which of the following is the correct method

can be done by Meng Wei ?

BA 2 ) 4 /b B AR K MIEAR P 45 21 B4R Qo VAT ARA T E R AT A
AR 697

A plate of metal
TR

Lo

A plate of metal
TN

S

4
Heated
iR

!

A plate of metal
1 1) D

e A plate of metal

‘ ah

b

+
Heated
LIRS

16



22. When the bghrt of the sun completely ob d by the moon. Which of the . :
g pieicly abscured by the 24. Diagram 10 shows the time at point X on the Earth is 12 p.m.

B 10 2706k kil X b E 656108 2 F 4 12 iHiE.

following phenomena will be happen?

H Ao A X AR RBE 0, T apsamgdra s x?

A. pardal solar eclipse

B 1a A
3]
B. rotal solar eclipse KF J'&,J*
CPOS =
C. roul lunar eclipse
AsR —_—
D. pardal lunar eclipse
2 A
RECE —
23.  Which of the following constellatons point to the north?
FHA 2RSS G472 Dfagram 10
B’ 10
I. Southern Cross II. Scorpion After the Earth rotates one per four round, predict the correct ime at point X.
nFETFE XBA A
b S REH S — MG, WHR X K 69 EAEE,
III Orion IV. Big Dipper & A. 3:00p.m.
HPE it4L%
B. 6:00 p.m.
B.III and IV
A. Tandll a C. 9:00p.m.
[# I ol #= IV
D. 12:00a.m.
C II and IV D.1 and IV
11 #= IV 1F IV

18
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35 Xizo Min stands at the school tield at 6:30 p.m, Predict the direcoon of
27. Which of the following shows the correct sequence in the deveopment of

shadow formed. technology m water transpormanon ?

NEATHF~HZtadada$n. AHNSHPTH &8 7 ). e T TR LS EF R N Ch ALY SR E R
A. North B. South A. Raft —saling boat —+ sampan — motor baoat
i i KRR — 4~ 4ain— Mg
C. East . West B. Saling boat — motor boat — sampan —* rate
i bt A dh 4 — A - AR
26. The following informaton is about X. C. Raft — sampan -+ sahng boat —» motor boat
MTAMALT X AFE e hdi— A M

D. Motor boat == sailing boat — raft -~ sampan

e Huge chuck of rock
EPN{TEE S

e Travel around the Sun

PRA e A A A

%LA&JESQ 28. Diagram 11 shows the object are classified into group X and Y.

o Situated between Mars and Jupiter ]
16 O HIANL 2 1] & B2 FH B LA K fe Y ik,

What is X ?

|

H2AX? ,

! Axe

{ Tap £ 4.

| A 12 5 A
A. Asteroid B. Planet ' . . / i
sterol 3 .’Q\% / §
AT A ¥ 1 = i
2 i Screwdriner Chisel ;
C Comet D. Meteor ’ auaiEf Br 2

Dragram 11

4y ¥ £

iR 3]

il
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= e Pucartret ¢, - = & 47 croup i
w sy of Nave Deen cotTeChy CIasIIfT 030 gty sl e
olzea 2 e e e da e a
UTE—F2 X BRYRBHIREZF LY
% e
K ot | Pa—
A 73 &F
Serore whee Soszor
E - =, & g —
= RS = Js
Hemener somie
-
- S .
. 5 .
1 20T ATT g
k9] 22 > o
- F 3 - =
“B P SRR e 3 . o & L. o
Drzorz 12 bedow shoes the ose of 2 Smpis machne.
—— e = = = 23 ot TN A
rE R TR I

Dragram 12

#12

21
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BEGRER AR

Using simple machine

RRMNEIR
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Which of the following statement is correct ?

» . Section B
WA R AL ] 2 R 5 692 B
Al Work 1s faster when using a simple machine (20 marks)
. ) s (20 %)
ik R A huR e, TiETITHEK Answer all question.
B. Mass of barrels decreases when using a simple machine B AR 69 iR
Write your answers in the space provided.
LA R AUK, Hme A TR RERSHEAEA L,
C.  Longer dme is needed when using a simple machine

1. A group of pupil carry out a fair test. They use a pulley to lift 8 steel balls and the

L 45 ) 1 AU B4 )
ERFQUNOE R R Yy 208 Aok | mass of the load needed is recorded . After that, they use two pulleys to repeat the

D.  More energy are needed when using a simple machine fair test. The diagram below shows the results of the fair test
L4k A28 S —HFLRITT AR RNARRALS MAKARKT AHHE
¥ RE, RNAABHARHEELA LG T8,
TEETTREHR,
Pulley
mee

15kg \

C ~

ERERET. |
Steel ball ¢1E8 Steelball 24

3) Whatis the purpose of this fair test?
BRFENAHIH A

(1 %)

23
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2

Palley L Palleys 2. Lily carried out an invesuganon. She connected one bulb in a series circuit and
He e ;
i i recorded the brightmess of the bulb. She repeated this step for 3 and 4 bulbs.
AR RE, - Mrieddid P e ¢, FitRiri
1.5k :
. IRR. 6, REU2A, 3 A A4 drit g L Lo as,
Steel ball #1F Steel hall #41%
C The bar chart below shows this resuls.
b) Predict the mass of  load X needed to lift the steel balls if three pulleys are used in AT & A #TE BT T IR0 IR R,
the fair test.

Brightness A

4o Ak ) ZAAAC R AT S0, FMARAL B AT X I E. oo
= ey — e (1 &%)
Number of bulbs
) State what is kept the same in this investigation. ; L. 1 2 3 4 s R
CRURL e R L LS B BE S SR
{14 a) Whatis the aim of this investigation?

A A B A AT

d) State one relanonship between the two informanon gathered in this invesggaton.

B R R AP B ] 6 R AT 8 ) X & e ”” = Sl
a5 : (1 47')
b) State what is kept the same in this invesngaton.
ERafEh YL AERHTLOFA.
e (1 )

1
¥
]

4

A T T R B

i
e
L e e
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3. Diagram 2 shows a group of pupils carried out an invesngation about the ome for
7 BIR TR PR kA £ R the fish last longer. Both of fish smeared with different quanary of salt and placed
Al e 4 (A ) !
under the sun within 3 days at the same place.

¢) What conclusion can she made from this invesogagon?

THRZF—HFLAEA XL ORI T HELESLTFTE

- (1)
) 33 R AL An ) Je B R A K ik 3 Ko
d) Afrer that, Lily used 2 bulbs to connect in a parallel circuit. What could she <b®7|>
: o oA
observe if compared the brighmess of the bulbs of the previous investigaton
Fish A Fish B
which connecting 2 bulbs in a circuit series?
i e L ” . & A & B
BEMMAMN 2B BT XA CRE, F5$KE
, s g ! 100g sal 200g salt
b8 2 MTRERM K, KT E AL R? T ¢
100g 2 200g 2
(1)
5
4
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Resu
PRNELS
7 Fih ) < kn: ;i\t }31;' fish to last longet/day
! {
i :
LY ' PG INS TR
e G E et TRes o Seace o e e T
i A 15
 S— = _
f B 30
| . == e

b) State what is kept the same in this investigaton.

B i f EI P L RN R LA PR
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(14

(15

¢) State one informaton rathered in this investgation.
37 LSRR RN R0 — ) 4

e (1 &)

B —

d)What is the mend of change in the time for the fish to last longer when the quantity of
salt increase?
Gk 6y i hat, EARIFe) et TR XL
(14




4. A group of pupil from Class 6 Gemilang carmed out an invesogation about the stability

ot an object. Four stools of similar base area placed on the table. The rable were

shaken undll the swols oppled.

AEREES AT BT AN A HRB RO ER. oRASERNR
HEFERERE. RFREHELTHT.

Table below shows the result of investgadon.

Height of stool/cm 20 40 60 80

EFOHSR/REA

Time taken to topple/s 20 80 70 60

# F A& &y et el /A

a) State one informaton gathered in this investigadon.

B LAk —A T H.
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S ———

i ittt

b) State the relationship benween the height of srool and the stability.

SERTFOBAE ANz AN LA,

(1)
c) Precdict the dme taken of stool to topple if the height of stool is 90cm.
WREFHZHAR Ocm, AMETH THE A,

(149)

The time taken of an object to topple is affected by the base area of the

object.

A5 F 5% 84 B 1 & 5 Sk RS AR AT B .

d) State the relationship between the two informatons gathered based on the

statement above.
4 L, BEAMKEOAATHZEAHL A
(1)




©) Predict the reading of the mcasunng cylinder if 6 cubes are putinto the eylinder.
4. Hua An did an experiment .He put cubes into the measuring cylinder one by one

WRHT 6 AFR, KFMEH ik,

that contained water.

ERHT—A R, RERARTHEFRAARTAHTAL. (1)
-
d)Whar conclusion can be made from this investagation?
i D 7 w,]:w - LR P sl 4 27
el (7 7 E
The table below shows the result of his observation. (%)
TREIFTROGNEL R,
The number of cubes 0 2 3] 4
EFRGHEE (4) i
The reading of the measuring cyclinder 4 20 | 28 | 36
FH 64 (m)
a) State one information gathered in this experiment. i

Ehix AR BL ek —RATH.

) i
B
b) State the trend of changes for the readings of the measuring cylinder. P
B b i f o e A 09 ik 4k e TALH X,
(14%)
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